	Вариант 2

Задание 1. Выберите правильную форму
 глагола из двух предложенных.

1.
The sausages ... delicious.

    A. are tasting
В. taste

2. He will be angry if you ... home   late.
     A. will  come            B.    come
3. "How many exams   ?" "I think, five".
      A. does he pass
B. has he passed

4.
When ... to take a course in statistics?

    A. did she choose
B. has she chosen

5. Bill .... about his answer during the lunch break. 
   A. had been thinking
B. thought
6.We are going to buy a car. By the end of next 
   month our family .. . money for it. 
A. will save
B. will have saved
Задание 2. Подчеркните сказуемое в предложении, определите его видо-временную форму и переведите предложения на русский язык.

1. E-mail has become a key part of the communications networks of most modern offices.
2. Since all e-mail addresses are written in Latin script, no special procedures are required to locate one in Russia.
3. Newer-generation networks use optical fiber connections.
Задание 3. Укажите, какой частью речи является выделенная форма: а) герундием (Gerund); b) инфинитивом (Infinitive);с) причастием настоящего времени (Participle I);  d)   причастием   прошедшего   времени   (Participle   II).   Переведи      предложения.

1. Other methods used for wide-area networking include telephone and communications-satellite linkage.
2. E-mail services use a central computer to store messages and data and to route them to thе intended destination.
3. The computer is rapidly taking over graphics design, production scheduling, and engineering design.
/. Read the text. Then read the titles. Which of the following titles is the best?

a) Office Equipment.

b) Office Automation.

c) Computers and Periphery.

d) How the Modem Works.


The rapid growth of the service sector of the economy has furnished  a new market for  sophisticated office automation. Computers and 1.с)either stand-alone or as part of a network

and specialized software programs are  taking over tasks such as facsimile transmission or FAX, mail, and  telecommunications that we once performed by separate pieces of equipment. In fact, the computer has virtually taken the place of typewriters, calculators, and manual accounting techniques and is rapidly taking over graphics design, production scheduling, and engineering design.
Desktop PCs have become increasingly affordable as a result of industry-wide adoption of the architecture of the PC introduced in 1981. Although it has become feasible to provide virtually every office worker with a PC, 2a) other methods used for wide-area networking include telephone and communications-satellite linkage. In the late 1980s and early 1990s, many companies began programs of linking or "networking" multiple PCs into a unified system.

     The local area network (LAN) was created in response to the need for a standardized system of linking computers together in a company. The most common method used to connect computers to a network is by means of coaxial cables. Newer-generation networks use optical fiber connections. When computers are not in close physical proximity, networks may  use microwave radio or infrared radiation to link the computers. Microwave radio requires a dish  antenna for transmission and reception; infrared radiation requires a lens for transmission and mirror and lens for reception.3g ) It can narrow  down the scope of the search considerably.
           The need for computer "connectivity" has established the usefulness of the peripheral device known as the modem. Modems permit two computers to communicate by telephone order to access databases, transmit files, upload and download facsimile transmissions, and send and receive electronic mail. Early transmission speeds using this equipment were relative
slow—300 baud.  4e).Some modems now operate at speeds of more than 50,000 baud and have error-checking an data-compression features.

Text materials in typed or printed form can be input directly into a computer by means of scanner. To read text, optical character recognition (OCR) software must first be used to convert printed documents electronically into computer-readable files. Scanners obviate the need rekey printed text in order to input it; they can also be used to input graphic material.

Computer-based electronic message systems are an alternative to telephonic communications or conventional interoffice memoranda.

 E-mail has become a key part of the communications networks of most modern office. Data and messages can be transmitted from one computer to another using telephone line microwave     links,     communications     satellites,      or     other     telecommunication
equipment.  5. d) )The same message can be sent to a number of different addresses.b). Since all e-mail addresses are written in Latin script, no special procedures are required to locate one in Russia.  
E-mail is sent through a company's own local area network or beyond through a nationwide or worldwide communications network. E-mail services use a central computer to store messages and data and to route them to their intended destination. With subscription to a public e-mail network, an individual PC user needs only a modem and telephone to send and receive written or vocal messages.

II. Read the text again. Choose the best sentence from the list below to complete each ga (задание выполнено в тексте) за
a) It can narrow down the scope of the search considerably.

b) 1. и  
1 a) 
f). It is more cost-effective for PC users to share files and common peripherals such as printer: facsimile boards, modems, and scanners.

///. Choose the best answer to these questions according to the text.

1.
When did it become possible to provide each office worker with a PC?

a) in 1981,
b) in the'late 1980s,
c) in the early 1990s.
2.
What may networks use to link computers, which are not in direct closeness?

a) optical fiber connections,

b) telephone and communications - satellite linkage,

c) microwave radio and infrared radiation.

3.
How is the device, one of the functions of which is to send and receive electronic mail, called
a) a scanner,

b) a modem,

c) a fax.

4.
What is the device used to input graphic material?

a) a printer,

b) a Xerox,

c) a scanner.

5.
What should a PC user have to subscribe to a public e-mail network?

a) modem and scanner,

b) modem and telephone,

c) telephone and printer.

IV.
Here are some dictionary definitions of words from the text. Each word has more than one
definition. Choose the definition that fits each of the words in the text best.

1)
program      a) a scheduled radio or television broadcast,

b) a sequence of instructions fed into a computer.

2)
office          a) a room or building where business is  

                           carried out,

b) a position of authority.

3)
satellite        a) a planet orbiting another,

b) a man-made object orbiting the earth, moon, etc.

4)
address        a) a place where a person resides,

b) a specific memory location where information is stored.

V.
Find words and expressions which mean the same as the following.

1) correspondence
2) apparatus
3) to contain
4) to allow 
5) to keep

VI. Make up an outline of the text (7-9 sentences).
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1. E-mail has become a key part of the communications networks of most modern offices. has become-Present Perfect Active от гл. to become.
Электронная почта стала ключевой частью коммуникативных сетей
2. Since all e-mail addresses are written in Latin script, no special procedures are required to locate one in Russia.
are written-  Present Simple Passive    oт гл.to write(wrote, written)
are required- Present Simple Passive    от   гл.to require (required)
Так как адреса пишут латинским шрифтом (буквами), специальных технологических процессов не нужно,  чтобы разместить электронную почту на русском.
3. Newer-generation networks use optical fiber connections.
Use-   Present Simple Active  от  гл. use(used).
Сети нового поколения используют соединения из оптического волокна.
1.Used -причастие   прошедшего   времени   (Participle   II). Другие методы(способы), используемые для глобальных сетей включают телефонную  и спутниковую связь.
2. to store - инфинитив (Infinitive)
 Intended-)   причастием   прошедшего   времени   (Participle   II.   
Обслуживание электронной почты (E-mail сервис) использует центральный (головной) компьютер, чтобы хранить сообщения и информацию(данные) и направлять их в назначенное направление.
3.taking- причастие настоящего времени(Participle I)
Компьютер быстро охватил графический дизайн, производственное планирование, проектный(инженерный дизайн)
Быстрый рост сектора сферы услуг экономики  оснастил
 новый рынок сложной офисной автоматизационной техникой.  Компьютеры как 1с).автономные, так и являющиеся частью сети  и специализированные программы охватывают такие  задачи, как факсимильная передача или ФАКС, почта,  и телекоммуникации,   которые мы когда-то представляли (себе)отдельными элементами оборудования. Фактически, компьютер  занял        место пишущих машинок, калькуляторов, и ручных бухгалтерских методов и быстро входит в  (охватывает) графический дизайн, производственное планирование, и инженерное проектирование.

Настольные персональные компьютеры(ПК) стали все более и более возможными в результате всеотраслевого принятия конструкции персонального компьютера, введенного в 1981. Хотя стало возможным обеспечить фактически каждого служащего офиса  ПК , 2а) используют и другие методы глобальных сетей, которые включают телефонную и спутниковую связь. В конце 1980-ых и в начале 1990-ых, многие компании начали программы соединения или "организации сети" многочисленных ПК в объединенную систему.

           Локальная сеть (ЛВС) была создана в ответ на потребность в стандартизированной системе соединения компьютеров вместе в пределах компании. Наиболее распространенный метод, используемый для подсоединения компьютеров к сети -  коаксиальные кабели. Сети (более) нового поколения используют  соединения из  оптических волокон. Когда компьютеры не находятся в близи друг от друга, сети могут использовать микроволновое  радио- или  инфракрасное излучение для того, чтобы связать компьютеры. Микроволновое радио требует спутниковой антенны для передачи и приема; инфракрасное излучение требует линзы для передачи и зеркало и линзы для приема. 3g ) Это может значительно сузить границы исследования.
     Потребность в соединении посредством компьютера    установила необходимость периферийного устройства, известного как модем. Модемы позволяют двум компьютерам соединяться при помощи телефона для того, чтобы  получать доступ к базам данных, передавать файлов, закачивать и скачивать факсы, а также  послать и получать электронную почту., Используя это оборудование, прежние скорости передачи были относительно медленные — 300 бит.   4е)   Некоторые модемы сейчас работают со скоростью более 50 тысяч бит, причем у них есть свойство  проверки ошибок и сжатия данных.
    Текстовые материалы в набранной или распечатанной форме могут быть введены непосредственно в компьютер с помощью сканера. Чтобы считать текст, программное обеспечение оптического распознавания символов (OCR) сначала должно быть использовано, чтобы конвертировать электронно напечатанные  документы в читаемые компьютером файлы. Сканеры устраняют потребность  повторного открытия  напечатанного текста для того, чтобы его набрать; они могут также использоваться, чтобы ввести графический материал.

    Компьютерные электронные системы обмена сообщениями - альтернатива телефонной связи или стандартным межофисным   документам.
Электронная почта стала ключевой частью сетей связи самого современного офиса. Данные и сообщения могут быть переданы из одного компьютера в другой при помощи телефонной линии микроволновой связи, спутниковой связи или другого телекоммуникационного оборудования 5d).Одно и то же сообщение можно послать на разные адреса. b)Поскольку адреса электронной почты пишут латинскими буквами, не требуется специальных процедур для того, чтобы определить электронный адрес в России. 
Электронное письмо посылают через собственную локальную сеть компании или через общенациональную или глобальную сеть связи. Чтобы хранить сообщения и данные и направлять их к месту назначения, службы электронной почты используют центральный компьютер. С подпиской к общедоступной сети электронной почты отдельный пользователь ПК нуждается в только модеме и телефоне, чтобы отправить и получить записанные или голосовые сообщения.

1.d). in 1981,
2. c).  microwave radio and infrared radiation
3. b).  a modem
4.a). scanner.

5.b). modem and telephone
1) program      b) a sequence of instructions fed into a computer.

  2) office         a) a room or building where business is  

                           carried out,

3) satellite     b) a man-made object orbiting the earth, moon, etc.

4) address      b) a specific memory location where information is stored.

1) correspondence
2) apparatus- device, piece of equipment, office automation.
3) to contain- to take over.
4) to allow – to permit,to become affordable.
5) to keep- to store
     The rapid growth of the service sector of the economy has furnished  a new market for  sophisticated office automation such as a computer, a modem, a scanner.

    The computer has virtually taken the place of typewriters, calculators, and manual accounting techniques and is rapidly taking over graphics design, production scheduling, and engineering design.
   The local area network (LAN) was created to the need for a standardized system of linking computers together in a company. 
    The most common method used to connect computers to a network is by means of coaxial cables. 
     When computers are not in close physical proximity, networks may  use microwave radio or infrared radiation to link the computers.
     The usefulness of the peripheral device known as the modem. 
permit two computers to communicate by telephone order to access databases, transmit files, upload and download facsimile transmissions, and send and receive electronic mail. 
     Scanners obviate the need rekey printed text in order to input it; they can also be used to input graphic material.

      E-mail has become a key part of the communications networks of most modern office. 

     To connect with other PC users an individual PC user needs only a modem and telephone to send and receive written or vocal messages.
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